Chapter 1 Test Review
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20.7,9,13,19,27, ... 21. 1, 3,6, 10, 15, . ..

Adding consecutive even #s adding consecutive #s

37,49 21, 28

22. 256, 16,4,2, ... 23. 1.1, 1.01, 1.001, 1.0001, . ..
Taking square root each time adding in a 0 after decimal point

, j Z 1.00001
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29. Conjecture: The sum of any two odd numbersi1s __? .
1+ 1=2 7+ 11 =18 e
1+3=4 13 + 19 = 32

30. Conjecture: The product of any two odd numbers is ___?
1 X 1=1 7TX11 =TT Q
1 X3=3 13 X 19 = 247

31. Conjecture: The product of @Lrlumber (n — 1) and the number (n + 1) is
always equal to __? ==

3:5=4%—1 6:8=7"—1
46=5 —1 7+9=8"—1
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34. All prime numbers are odd. Z

35. The sum of two numbers 1s always greater than the larger number.

-2+ > =

36. If the product of two numbers 1s even, then the two numbers must be even.

| x = 4
37. If the product of two numbers 1s positive, then the two numbers must both

be positive. ,Zx_g—_ L@
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9. Point A lies on line £. ?
11. Point B lies on line £.” |

—_—

13. Point C lies on line m. [

10. A, B, and C are collinear. ?
12. A, B, and C are coplanar. |
14. D, E, and B are collinear. L_




17. F and H K
19. Kand L N\

18. G and K K\J
20. MandJ
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32.A,B,andH [~
34.A, B, and F G

—_——

33. B,C,and F —_
35. B, C,and G '




48. Draw four points J, K, L, and M, no three of which are collinear.
Then sketch 71_{} KL, Zﬁ and M_}}

.

) A

49. Draw five points P, Q, R, S, and T, no three of which are collinear.
Then sketch {}3__”?3_? OR, ST, and TP.
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19. E 1s between D and F. 20. H 1s between G and J.
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23. OR 2
25. PQ
27. RP

PT=20,Q5=6,PQ=QR=RS
\ N\



10)  3a. b
— |
A(—4,7)
NeB2)

(O + (9
A= (- -1+ (270

= o+ (5
— [ioor B {125

BC > ((b-2)+ (1-72)
- ?)2# q’l
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26. n/ABC = 7 27. m/L DEF = 28. m/. POR =

a P
A D o>
45°
60° 60° \120° -—:--
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L5+ (60 @@+ tb@—l@
|05° l@\ L0
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37.

22°

e g

NLIRS=)2
cNLPRR -

91°

*—>

Q R
Al/2 =455
MNLPRS= NS S
M LSQQR &5

39.

80°

mLSQQ-—%Di
o o0 = WD
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9. Are £5 and 29 a linear pair? \/
10. Are £ 5 and Z 8 a linear pair? N
11. Are £5 and £ 8 vertical angles? \/
12. Are £ 5 and 27 vertical angles? N
13. Are £ 9 and £ 6 vertical angles? I\J
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\BO- "L

20. Ifmz 6 =72°. thenmzs7 =_ 2 \ O

21. 1t m/ 8 = 80°. then m/ 6 = 2 U

KO- O

22. 1ftm/9 = 110° thenmz8 = 21O

23. 1fms9 = 123°. thenms7 = 2 \0A
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